www.makemyexam.in

- Powered by IBT

Haryana Constable 23 Dec. 2018 Paper (Morning Shift)

372018 (1) (M)

1. is known as «“Mini Cuba" in India

/ [
due to the largeé number of boxers who hail

from the region.
(A) Bhiwani
(©) Karnal

2. Measles and rubella aré caused by
(A) Bacterial (B) Virus
(C) Protista (D) Fungi

3. In the following series of numbers, find out
how many times 1, 3 and 7 have appeared
together, 7 being in the middle, 1 and 30N
gither side of 7 7
2973173771 331738571 3771

@ Ambala
(D) Palwal

73906
(A) 3 B) 4
(C) 5 (D) more than 5

4. An ideal coil of 10H is connected in series
with a resistance of 5Q and a battery of 5V.
Two seconds after the connection is made, the
current flowing in ampere in the circuit is

(A) (1-¢€7) (B) (1-e)
(C) e (D) e’
5. IfP(n):2n< n!, n e N then P(n) is true forn
(A) >2 (B) >3
(C) <4 (D) None of these
6. Charridance of Haryana is related which of

the following festival 7
(A) Navaratri
(C) Googa Navami

(B) Teej
(D) Holi

ForSSetsA,B,CifAcB,BcCthen

(A) AuBcC (B) CcAuB
(C) A-B=C (D) None of these

8. won National Film Award for best
supporting actress for her role in this film
Pagdi The Honour.
(A) Usha Sharma
(C) Sumitra Hooda

(B) Baljinder Kaur
(D) Sheela Pahal

9. 2018 Commonwea!lh Games held in
(A) Singapore (B) South Africa
(C) England (D) Australia
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10.  Whichone of the following statement is wrong
about introduction of Bills in Parliament ?

(A) The Finance Bill can be presented first

in any one of the either Houses of the
Parliament,

(B) President approval is mandatory for all
the bills. ‘

(C) Finance Minister presents the ‘Finance
Bill in Lok Sabha.

(D) Disagreement regarding bills can be
resolved through joint session of the

Parliament.
11. UNFCCC - 2017 Conference of Parties 23
held at

(A) Edinburgh
(C) California

(B) Morocco
(D) Bonn

12. isatechniqueinwhichadedicated and
complete physical connection is established
between two nodes for communication.

(A) Packet switching
(B) Circuit switching
(C) LAN

(D) All the above

13. The facts can be
(A) Physical only
(B) Psychological facts
(C) Physical as well as psychological
(D) None of the above

14. district is known as Sripad Janpad.
(A) Kurukshetra (B) Rewari
(C) Faridabad (D) Panchkula

15. Select the series in which the letters skipped
in between adjacent letters do not decrease

in order.
(A) EQZFI (B) GwiqQu
(C) MGVFK (D) PJXHM

16. This person is considered as the father of
Bhakra-Nangal dam
(A) Seth Chhaju Ram
(B) Chaudhari Chhotu Ram
(C) Chaudhari Sukhram

(D) Diwan Bahadur S.P. Slnghav :
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17. Which of the following is the name of the
monthly magazine published by Haryana
Sanskrit Academy 7
(A) Sanskritavani
(B) Sanskritabharati
(C) Hariprabha
(D) Sanskritabhasha

18. The gaseous envelope of invisible film of air
surrounding the earth is called
(A) lonosphere (B) Troposphere
(C) Stratosphere (D) Atmosphere
19. Hali Award is given by
(A) Haryana Punjabi Academy
(B) Haryana Urdu Academy
(C) Haryana Sanskrit Academy
(D) Haryana Hindi Academy

20. The group of Planets called as ‘Inner Planets’
are

w

(A) Mercury, Jupiter, Earth and Saturn
(B) Mercury, Earth, Neptune and Jupiter
(C) Mercury, Earth, Mars and Saturn
(D) Mercury, Venus, Earth and Mars

W

Iv3s 1v3s TvIe

o~ -~

21. are a sequence of values of any
type and are indexed by integers. They are
immutable.

(A) Tuple (B) String

(C) List (D) Dictionary

In a class of 60 students, 25 play cricket,
20 students play tennis and 10 students play
both the games. The number of students who
play neither tennis nor cricket is

(A) 35 (B) 40
(C) 25 (D) 50
23. Sunflower is an example for type

of placentation.

(A) Marginal placentation
(B) Free central placentation
(C) Axile placentation

(D) Basal placentation

24. Cattle and buffalo belongs to the family
(A) Cammelidae (B) Suidae

(C) Equidae (D) None of these

-4-
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25.

26.

27.

28.

29,

30.

31.

32,

Inarow of girls, if Seeta who is 10" from the left
and Leena who is 7 fromthe right, interchange
their seats, Seeta becomes 15" from the left.
How many girls are there in the row ?
(A) 17 (B) 20
(C) 22 (D) 21

was associated with the tribal
republic of the Yaudheyas of the early
Christian period and holds a series of mounds
which yielded several Indo-Greek coins when
excavated by Birbal Saini in 1938.

(A) Bhiwandi (B) Khokrakot

(C) Charki Dadri (D) Kaithal

Which one of the following is an ancient port
of Indus Valley Civilization ?

(A) Mohenjodaro (B) Kalibangan
(C) Harappa (D) Lothal

Select the cowpea variety resistant to
Bacterial blight disease.

(A) Himgiri (B) Pusa Komal
(C) Pusa Sadabahar (D) Pusa Swarnim

The Indian Evidence Act came into effect
from

(A) 1 January, 1872

(B) 1 October, 1872

(C) 1 September, 1872

(D) 1 December, 1872

Aisricherthan B. Cisricherthan A. Dis richer
than C and E is richest of all. If they are made

to sitin decreasing order of richness who will
be in the middle ?

(A) A (B) B
(C) C (D) D

Which two months in a year have same
calendar ?

(A) June, October

(B) April, November

(C) April, July

(D) October, December

This King assumed the title of ‘Vikramaditya’
when he defeated Akbar's Mughal forces in
1556. ,

(A) Sher Shah Suri

(B) Hemachandra

(C) Rana Pratap

(D) Prithviraj Chouhan

\o ®

26.

27.

28.
°

29,

30.-

31.
@

32,

Y

- Powered by IBT

(A) 17 (B) 20
(C) 22 21
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33.

34.

35.

36.

37.

38.

The number of possible outcomes when a
coin is tossed 6 times 1S

(A) 36 (B) 12

(C) 64 (D) 32

Self Respect Movement was started by

(A) Swami Vivekananda

(B) Ambedkar

(C) Ramaswamy Naicker

(D) Rajaram Mohan Roy

Which of the following is not an example of
database management system ?

(A) SQL (B) .net

(C) SAP (D) Oracle

A bag contains 5 red and 3 blue balls. If 3 balls
are drawn at random without replacement, the
probability of getting exactly one red ball is

45 135

15 15
C) r— D) —
(®) =5 (D) 25

Activity of a radioactive sample decreases 10
%3"’ of its original value in 3 days. Then in

9 days its activity will become

(A) %3 of its original value
(B) % of its original value

(C) %8 of its original value

(D) y27 of its original value

What is the output of following code 7
class test .
def __init__(se!f):
self. variable = ‘old’
self. change (self. variable)
def change (self, var):
var = ‘new’
obj = test()
print(obj.variable)
(A) error:function cannot be called
(B) ‘new'is printed
(C) ‘old'is printed
(D) nothing is printed

33.

34.

35.

36.

37.

38.

MA) 36

~{B)
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- (D) Oracle
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class test:
def __init__(self):
self. variable = ‘old’
self. change (self. variable)
def change (self, var):
var = ‘new’ ’
obj = test()
print(obj.variable)
(A) error:function cannot be called
‘new’ is printed
(C) ‘old'is printed
(D) nothing is printed

1
3

3,
i
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39.

40.

41.

42.

43.

44,

45.

46.

In India Food Security Act enacted in the
year of

(A) 2011

(B) 2012
(C) 2013

(D) 2010

As per 2011 census, population of Haryana
forms approximately percent of India’s

population.
(A) 2 (B) 5
(C) 10 (D) 13

From the given alternatives, select the word
which cannot be formed using the letters of
the word “OUTRAGEOQUS".
(A) GREAT

(B) OUTAGE

(C) SURAT

(D) GREGARIOUS

When a name is encountered during the
execution of the program, it searches for that
name in the following order

(A) local, global, built-in, enclosing

functions

(B) global, local, enclosing functions,
built-in

(C) built-in, enclosing functions, local,
global

(D) local, enclosing functions, global,
built-in

Chile saltpetre is

(A) NaNO, (B) KNO,

(C) LINO, (D) Ca(NO,),

Values of k for the equation kx(x —2) + 6 = 0
so that it has two equal roots are

(A) 0,86 (B) 6

(C) 2,83 (D) None of these

Number of districts when Haryana was carved
in 1966 was

(A) 21 (B) 15

C) 7 (D) 9

Department of Information, Public Relations
and Languages, Haryana brings out a
magazine named

(A) Haryana Vikas

(B) Haryana Darshan

(C) Haryana Samvad

(D) Nono of theabove )
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39. TR T e gean vfarfm ad # emy
BT | _
(A) 2011 (B) 2012
(C) 2013 _{D) 2010

40. 2011 ] SHEA1 o STIAR, BT Al e
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JA) 2 (B) 5
(C) 10 (D) 13

41. feu U fyeedl €, 58 “OUTRAGEOUS” %
78R Y SR ST §T T T ST e I IT68

|

(A) GREAT
(B) OUTAGE
(C) SURAT

_{B) GREGARIOUS
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a7 predict the output of following intf=1,1% 2;
intf=1,i=2 do { .
do { =1 : |
=l } while(++i < 5);
) while(++ < 2 cout<<f;
coute<t, (A) 12 ?ﬁ) 5
& ° D) 24
n 12 D) 24 © ¢ (D)
& 4 3 tt <hl
zfgmn T T 2800 Megawa
A new 2800 Megawatt nuclear power plant 48. @ T WK
i f Haryana ot TR T ST S
will be setup at this place 0 arya .
i (A) @l 4B) TREE
(A) Rewar (B) Gorakhpur . g
(C) Jind (D) Sirsa (C) Sfia (D) | .
Choose the option, which is not included in |  49. 9% fepe I, Sl W i TR B |
- networking. . (A) T ST deh T8 A
I (A) Access 10 remote database B) : —_

(B) Resource sharing
(C) Power transferring
(D) Communication

. The Article of Indian Constitution which gives

special status to Jammu and Kashmir

(A) 370 (B) 382

(C) 371 (D) 372

Select the correct one,

1 Ambala receives the highest rainfall in
Haryana.

Il: ltis surrounded by Shivalik hills.

(A) Bothlandllaretrue and Il is the correct

explanation of |

(B) Bothlandllaretrue, but Il is the not the
correct explanation of | :

(C) Vistrue, llis false

(D) Both are false

National Bureau ;
) of Anim .
is present in alGenetic Resources

(A) Kurukshetra

(C) Mewat

53! :'Surdas was a contem
Glawing Mughal rylg

(B) Karnal
) Rewari

POrary of which of the

. rn

(AC) Shahjahan ®

©) Humayyn (D)) gkbnr
abuyr

_4C) ifaa TR
(D) HT
50. éﬁwaﬂaﬁmsﬁﬂﬁmﬁm
T <1 ST ST B

_ARK) 370 (B) 382
(C) 37 (D) 372
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54. Evidence, under Indian Evidence Act, means
and includes
(A) Oral Evidence
(B) Documentary Evidence
(C) Both (A) and (B)
(D) None of the above

55. This protected area contains one of the last
surviving remnants of Delhi Ridge hill range
(A) Bhindawas Wildlife Sanctuary
(B) Asola-Bhatti Wildlife Sanctuary
(C) Nahar Wildlife Sanctuary
(D) Abubshahar Wildlife Sanctuary

56. Select the correct one.
I. Gingee fort — Tamil Nadu
Il. Ajantha-Ellora caves — Madhya Pradesh
(A) Only | is correct

Only Il'is correct

Both are correct

Both are wrong

~— > o

(B
(C
(D
57. This Haryana based writer was the editor of

Urdu Magazine ‘Bharat Pratap’,

(A) Balamukund Gupta

(B) Pratap Narayan Mishra

(C) Mahaveera Prasad Dwivedi

(D) None of the above

58. The process of delivery of the foetus is called
(A) Implantation (B) Fertilisation
(C) Parturition (D) Ovulation

59, Consider the following statements regarding
Right to Equality in Indian Constitution.
1. Article 14 — All are equal before law.
2. Article 16 — Equal opportunity in public

employment.

3. Article 17 — Untouchability is Prohibited.
4. Article 19 — Abolition of Titles,
(A) 1and4 (B) 2and 4 only
(C) 1,2and4only (D) 1,2and3

L 80, if the coofficients of 2, 3¢ and 4" terms in

the expansion of (1 + x)"arein A.P,, then the
value of n is

(A) 2 B8) 7

() 11 (D) 14
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lowing country is not included

lin the great geographic entity known as the

i F

(B) Pakisthan

(A) Myanmar
(D) India

(C) Bangladesh

Present Law Minister of India is

(A) D.V. Sadananda Gowda

(B) Ananthkumar Hegde

(C) Ravishankar Prasad

(D) Nithin Gadkari

The interference fringes for sodium light
(A=5890A°)ina double slit experiment have
an angular width of 0.2°. For what wavelength
will the width be 10% greater ?

(A) 5890A° (B) 7500 A°

(C) B6479A° (D) 8768 A°

Blue Revolution is related to

(A) Oilseed crops

(B) Vegetable crops

(C) Milk production

(D) Fisheries

The condition of the atmosphere at a given

place and time is termed as
(A) Climate (B) Weather

(C) Meteorology (D) None of these
What is the output of this program s

int main( ){

char arr [20];

int i,

for (i=0;i<10; i++)
*(arr+1) =65+ iy
* (arr +1) = 0%

cout < < arr,

return O;

}

(A) ABCDEFGHIJ
(B) AAAAAAAAAA
(C) 0123456789

(D) None of the above

| O
| prefeRad 8 HH-E S we s T
et IU-TETEN o wftrer Tel @ 7
(B) uTfeREa™
(D)

61

<
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() TSNl

[¢)]
NIy
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5 3 | forr qieedian 3 e i 10% ifem a7
(A) 5890 A° (B) 7500 A°

(D) 8768 A°

____,ﬁﬁafﬁ?rél

63.

64.

_iB) Rl ¥
65. @ﬁqmmaﬂxmma@mﬁ@ﬁr

il FEA S | )
A
fc§ ﬁTﬁm (D; i @
66. 39 Snm e fria F0 27
int main( {
char arr.[20];
int i;
for (i=0;i<10; i++)
*(arr+i) =65+ i)
* (are +i) =07
~cout<<arr;
return O;

}
AA) ABCDEFGHW

(B) AAAAAAAAAA
ut +(C) 0123456789
(D) I d @ e
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67. Coefficient of variation of two distributions | 67. I 3T} <&t firgetsti T 50 3R 60 2
are 50 and 60 and their arithmetic means are 3R 3 SFHNTE T HHE: 30 31K 25 2 |
30 and 25 re?sp.)ect.ively. Difference of their " .
standard deviation is
(A) 1 (B) 0 (A) 1 (B) 0
(C) 15 (D) 2.5 AC) 1.5 (D) 2.5

68. is responsible for generation 68. __ efamond uf Scured g STerh 2|

of power in Haryana.
(A) Haryana Electricity Reform Commission | ©

(A) efemn farea gum s

(B) Haryana State Electricity Board AB) g Ty faggd «ie
(C) l:.ariar;a Power Generation Corporation () =R B *trer Rl
imite
(D) Haryana Vidyut Prasaran Nigam Limited -(D) i fagga weror fmm fafiee
69. was a famous freedom fighter | 69. __ &femom & us wesdr 99 2 S A
from Haryana who later became the CM of AT & gem A |
"/‘f S;a’ejl | A ¥
vila s
:B; B:nsilal (B)
(C) Bhoopinder Singh Hooda (C) % fire g1
(D) Manohar Lal Khattar (D) AR STl W

70. Whatwill be last digit of the third number from |  70. SewEsT 517, 325, 639, 841, 792 T sradie

the top when the numbers 517, 325, 639, 841, Q Wﬁm@ﬁ%w%a’r R P
792 are arranged in descending order after

reversing the position of the digits within each lzq:j jﬁ ELERIIEk:Rsit:ti kst &1 ffam
number ?
(A) 7 (8 3 (A 7 AB) 3
(C) 5 (D) 2 €) 5 (D) 2
71. Sahiwal is a breed of 71, WEEE __ fruw frm
(A) Chinkara (B) Tiger (A) R ®) T
(C) Crocodile (D) Cow (C) "=y D) T
72.  Which of the following function/method acts | 72. f=forRea & & s - S/ oy e e
as a constructor in python ? FRZFR Y ifey o1 e & 7
(A) construct() M) construct()
(B) _init_() (B) __init_()
(C) st (C) __str__

(D) function whose name is similar to class

(D) %Wﬁwmaﬁ%wﬁ%m%,

- g7 LS
v 6739 kg |
L ﬂ:\q'\ amb ans SY™

name ()

\\\Q-
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73.

Which of the following is one of the

5 villages Yudhishtira wanted to borrow from

Duryodhana ?

(A) Mewat (B) Palwal

(C) Kamal (D) Sonipat

Negation of ‘Al triangles are equilateral

triangles’ is

(A) Alltriangles are not equilateral

(B) All equilateral triangles are not
triangles

(C) There exists a triangle which is not an
equilateral triangle

(D) All of these

Creating an object from a class is called
(A) Initialisation (B) _Instantiation
(C) Creation (D) Definition

P(n):2®"-1,n¢e N is divisible by

(A) 4 (B) 3
(C) 5 (D) None of these
Mohd. Ghazni attacked Thanesar in

(A) 1054 (B) 1014

(C) 1263 (D) 1492 .

This Panchkula based writer won prestigious
Kendra Sahitya Academy Award for 2017
(A) Nachhatar

(B) Ramesh Kuntal Megh

(C) Nasira Sharma

(D) Mridula Garg

This woman secured 2™ rank in UPSC
who has also been named as the brand
ambassador for betibachao, betipadhao
campaign.

(A) Anu Kumari
(C) Saritha Kumari

(B) Divya Kumari
(D) Preeti Kumari

'The sum of odd numbers between 0 and 50 is

(B) 530
(D) 625

(A) 600
(C) 480

73.

<

74.

75.

76.

77.

78.

79.

80.
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TR A A
Frefrfaa # B 191 Tk 3 oi ia § F 0

%a’tgﬁﬁfgﬁ”ﬂ@lﬁmaﬁﬁs}?
(A) AT 1B) e
(C) T (D) @

greft Fogs HETE Bt @7 o weA R

(A) geft e awemg e 8

(B) wei wag P, P e @

(©) T Frget T & S g e T

D) PRl
ek Tl @ ek AT AT FEATTR |

() TRREETEEE  4B) R
JORRELS (D) fFreH
P(n):22—1,neN g favsa 2 |
(A) 4 (B) 3

(C) 5 (D) T & HE
Hrgaye Tl T UHE T T I
foRa |

(A) 1054 AB) 1014

(C) 1263 (D) 1492
s’ada?@%sé@zﬁﬁzowzmﬁ@ﬂ%mﬁa
STeRTEw] qEET ST @

(A) TEBR

_(B) ¥ %A 4

(C) fémy i

(D) wgem Wi

‘ga e ¥ UPSC # s wm s A 1
e AT e T o |

(A) 37 FAT ) Reng
(C) witen FaT (P) firef)

0 39 50 ¥ sfter forew wEATa H AT

(A) 600 (B) 530

(C) 480 _D) 625
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83.
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85.

86.
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A man goes towards east 5 kms, then he
takes a turn to south-west and goes 5 kms.
He again takes a turn towards north-west and
goes 5 kms. With respect to the point from
where he started, where is he now ?

(A) East (B) North

(C) West (D) South

With the passing of the India Independence
Act, 1947, India immediately became

(A) Republic State
(B) Democratic State
(C) Dominion State
(D) Secular State

\

Which one of the following statement about
cold war is wrong ? '

(A) ltis an ideological war.

(B) USSR and America engaged in direct
wars.

(C) ltis a competition between the blocs of
Soviet Union and USA.

(D) It motivated arms race in the world.

To contest in the Loka Sabha Election one
must attain

(A) 22 years
(C) 25vyears

(B) 24 years
(D) 30 years

A set of n values x,, x,, ... X, has standard
deviation o then the standard deviation of
X, + K, X, + k, ... x, + Kwill be

(A) o (B) o+k

(C) o-k (D) ko

enzyme converts glucose into
ethyl alcohol and carbon dioxide.
(A) Invertase (B) Zymase
(C) Diastase (D) Maltase

Value of tan1°- tan2°- tan3° ... tan89° is
(A) O (B) 1

1 1 89
© 3 (D) (?Ej
If sin + cosecHd = 2 then sin?0 + cosec®d =
(A) 1 (B) 4
1

(C) 2 (D) Y
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T giFq 5 for. . 9d ) TR e € | fi
' cfeur-ufgerm § 5 fR.H. S @ | f
W—ﬁnaﬁmﬁs%;ﬁ.m%lﬁﬁg
SR @ 36 oTRY TR, AR R 7
(A) By I
(C) uftam (D) @R -

I Y Tzt 1w, 1947 & uitd 81 &

I CERiCIN

(A) TR T4

4B) Wit T

(C) eifufima T

(D) ewfRyer T~

i g o way | iR § @ S-01 Fe

TR 7

(A) T8 U STCTETE 5 8 |

(B) JTHTHITR 3R 7R 35 & w1 wifter & |

(C) =& @ifera FF o7R queT & i & s
eyt 8 |

AD) % forea  Sfect gformdi 1 S5 R |

dieh 9T AT g % forg et =it =mem
TG T ShiA! =M1y |

(A) 223 (B) 2479

(D) 30a9

N AT < O FHST X, X, ... x_ T AH Ferer
GRATX, +k, X, + K, ... X+ k T HFH F=rem
B

(A) o (B) o+k

(C) o-k (D) ko

S T grpeTiaTES # wuiahE wEr e |

(A) T (B) A=

(©) s (D) WS

tan1> tan2° tan3° ... tangg° T &

(A) 0 (B) 1

V2

T2 sind + cosech = 2 7 sin2g +C0sec? =
.(B) 4.

©) 2 (D) %
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English Language

Fill in the blanks with correct form of verbs.

89. What's that noise ? What 2
(A) is happening
AB) happened
(C) had happened
(D) has happened

Yesterday evening the phone three;
times, while we were having dinner.
(A) was ringing

4B) hasrung
(C) had been ringing

(D) rang

Fill in the blanks with appropriate preposition.

90.

91. |was shocked what | saw. I'd never

seen anything like it before.

(A) for 4B) at
(C) on (D) with
92. | can’t understand people who are cruel
animals.
- .(A) at (B) with
(C) for (D) to

Select the part of speech of each underlined word

in the following sentences.

Alas! she is no more.
_(A) interjection

(B) pronoun

(C) preposition

(D) conjunction

He treated it in a light hearted manner.
(A) conjunction (B) verb
4C) adverb (D) adjective

93.

94.
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95

96.

97.

98.

99.

100.

AR

=t s
it o ferdo 2
AA) R (B) =
(C) w (D) @S
T % g D &
(A) T8 (B) F
JC) et (D) @fuf
‘eI R | @8 AT STyl [T A T
2
(A) g ST oAt |
(B) wigeht AT |
(C) et T o |
(D) el ST |
‘PRl AR S A T R S €
(A) @ _B) formg
(C) FerETd (D) ElESED

ot e et warT | TR e @
(A) Tt & i 35T

(B) G

(C) It &
4Dy Fmeerd B
“mmﬁﬁé@%%”wmﬁ“a@ﬁ”
T HEH © 7

(A) HH HH

_{B) FIHRF

(C) TEY HTH

(D) @ IR






